[feomempus 8 knacc

PeweHue 3aday no meme
«llnowaodb napasnnenozspamma,
mpeyaosibHUKa, mpaneuyuu»



3adaqyu_ypokKa:

*3aKpernumsb HaebIKU 8bI4YUCIIEHUS
nraowjaou ¢puayp no gpopmyiie

*Hay4umbCsl MPUMEeHsIMb U3Yy4Y€eHHbIe
ceoucmea chuayp Osis1 peweHuUs1 3aday
Ha eblyucJrieHue niaowaou

*gblYyUCIIeHUe naowadeu puayp Ha
Krnem4yamou bymaze(nodaomoeka K

rMA )



dopmyrnbl naowadeu

S'=a’ S =ada#pb S =ash

/ \

-
/S 2(a+b)h\




Ne1

Hauoume nnowadb huaypsbi.

OTBeT: 6 cMm?



No2

Hauoume nnowadb puaypsbi.

OTBeT: 6 cMm?



Ne3

Hauoume nnowaodb uaypsbi.

OTBeT: 12 cMm?



Ne4

Haudume ninowaodb cuaypesi.

a-h
2

OTBeT: 6 cMm?



Hauoume nnowaodb huaypsbi.

o-al

OTBeT: 28 cMm?



Haudume ninowadb cuaypesil.

OTBeT: 12 cMm?



Ne/7

Haudume nnowadk uaypsbi:

B ~ S=—(a+b)-h

OTBeT: 17,5 cm?



Haudume nnowadb cuaypesi.

OTBeT: 32, 5 cm?



Ne9

Haudume ninowaodb cuaypesil.

1
b 2\ S =2 (a+bh

OTBeT: 15 cm?



Haudume ninowadk uaypsbi:

‘S:a-h

OTBeT: 12 cMm?



Haudume ninowaodb cuaypesi.

OTBeT: 6 cMm?



Haudume nnowadk cuaypsbi:

OTBeT: 10,5 cm?



Haumu nnowadb mpeyaosibHUKa:

a) 5 B
A
- [BOF
4‘\3 8CM
45° A
C C
12 cm B
AC-BE 12-12 4+/3 - 4
S = — = 72cM? S = — 8/3cM?

Z 2 2



1. B mpeyeonbHuke ABC £C = 135°,
AC =6 owm, ebicoma B[] pasHa 2 om. Haumu
rnaow,aob mpeyaoribHuUka AB/.

B
PeweHue:

AAB/]- npsamoy20ribHbIU

S_A[l-B[[
A C i} 2

ABC/] — npsimoyzonbHbit, £LBC/L = 180°-135°= 45°
=2/ CB/] =45°=ABC/]- pasHobelpeHHbIU, CL] = B[] =
=20M A=AC+C[=80dm
Al-BA 8:-2

S = > = 81M° Omeem: 80m?




Ne 463

[laHo: PeweHue:
ABC/] - napannenozpamm 1. 13 eepwiuHb! B

A i
B nposedém esicomy Ha
MPOOOSIKEHUE CMOPOHbI

[C
5 2. S,50n=HC-BH
n C H 3. AB/[JH — npsimoy20sibHbkIU,
BO= 14 cm, 4C =8,1cm <BHAC=30"=
ZB/[]C = 30° BH :%B,Z[ =7 cM
Féi’;’; = S50y =HC'BH =8,1- 7 = 56,7 cm?

Omeem: 56,7 cm?



Ne 482

LaHo: PeuweHue:
ABC/] — paeH. mpaneuusi 1. U3 8. C npogedém
B C ebicomy CK
2.AABH =A[]CK —

npsiMmoy2osneHble, AB = C/L]
( no ycriosur), LA = L[] —

3 H K A yeribl Mpu OCH. pasH.
ZABC = 135°, mpaneuuu= AH =
AH=14cm, HO=34cm KO=1,4cm =HK=2cm
Hatmu: 3. HK=BC =2 cm, AL]
S =4.8 cm

ABCL4 /A =180° - 135° = 45°= L/ ABH=45°
= AH=BH =1,4¢c** ,14BC
S =

> - BH = 4,76 cMm?




